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According to a recent study,7 out

of every 500 people aged 13 to 17
years are vegetarian. In a group of
350,13 to 17 year-olds, about
how many would you expect to be
vegetarian?
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- 6 and NZ = 9, find XY. '

M

X N Z
x N b, 3

u;“l“u;;”n;;;ipo;pa:g.pap.;pfr:tﬁaf!!l"llrf!!!l!l‘!tl‘vlltltl!

L Ly P e -.....oa..r-t-ti#ii'!llr

w
i - f ‘
'aH!uilialld‘c:lvlﬂll&lruriilI-Jer!ZHrlJ!l!pfriaecacpp- T Tl T TN T T T Y T R L smasssssseww

"RI‘C

LR R R P YY) Ill‘Iltllllll.fiotditi‘fiﬁ&!l’ c-lfflclo!!-o-----iziiaa SFFBSEFEFBRIFRFAa IR RN E.

PEFFRCFFORFEFTFRRTAR RGO R BT A L R e LR R S, R T e T Y]

e JZ B M ANYZ A b = \©

i ‘]
e L Ry et mre lpp-a::np'.aaa.aoaoo..-..p-.'...-.................;.-
1

=

-

o)

R R R R oy FEFREFAPF RIS FEREIR AR

>
a

L L P T T T
llliDOIJOrJlIJ!rilra#annootivpro;liccl-idtlio-'prr-iioa-';p.-.opaaacggp
LR R L A L R T R R R Y



Nt L J)

A

-

Y i S¥ (X ()

/ c?.//:_ X —111
ey - IIH




In the figure below. ¥ XM = 4 wnd
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